Lori



Territory - 3795 sq. km
Population - 300 th
Center - Vanadzor
Sights - Akhtala, Bardzrakash Surb Grigor, Dsevank, Haghpat,
Hnevank, Horomayr, Jgrashen, Kayanberd, Khorakert, Khutchapi monastery,
Kobayr, Kurtan, Odzun, Sanahin, Srbanes monastery.

Haghpat

The Haghpat monastery is situated in the north of Armenia, in the village of the same name (Lori district). Standing on a high plateau, amidst low structures, they rise sharp against the background of steep forest-grown slopes of Bazum ridge.

The exact date of the foundation of Haghpat is unknown. Documentary evidence suggests that these structure dates back to the middle of the 10th century.

Sanahin

The Sanahin monastery is situated in the north of Armenia, in the Lori district, within the limits of Alaverdi city. Standing on a high plateau, amidst low structures, they rise sharp against the background of steep forest-grown slopes of Bazum ridge.

The exact date of the foundation of Sanahin is unknown. Documentary evidence and monuments of material culture suggest that these structure date back to the middle of the 10th century. The formation of Tashir-Dzoraget kingdom of the Kyurikids in 979 and the great attention paid to Sanahin by various rulers of Armenia and their vassals favored the construction of many religious and civil structures there. In this monastery humanitarian sciences and medicine were studied, scientific treatises written and paintings, most miniatures created.

Information about the schools proposed to renovation by "AEF" in 2008

Region Lori, village Bovadzor

- 1. Construction estimate exists. It has been made up by construction agency of the region.
- 2. I have seen the school and have closely reviewed the estimate.
- 3. All the works are intended in the estimate.
- 4. The school consists of 1 building. The school is two-storied
- 5. Our suggestion was to renovate the whole school.
- 6. The roof is zinc-plated. It is intended to be totally repaired, zinc-plate the channels:
- 7. The schools electricity is in normal state.
- 8. The school is intended for heating with electricity.
- 9. The floors are intended for being partly repaired and partly changed (mainly with linoleum).
- 10. The toilets are indoor and will be repaired by settling new equipments. The school is provided with water.
- 11. The doors need being repaired, but in whole they are neatly kept.
- 12. The windows are in normal state, there is need for partly repairing.
- 13. The school was built in 1968.
- 14. 455 people live in the village.
- 15. 49 pupils study in the school
- 16. 14 teachers and 4 executive personals work in the school.
- 17. It is 157 km from Yerevan to Bovadzor.

To my mind the school must be immediately renovated. The school headmaster is Mr. Samvel Kharatyan. He is a clever, aware and educated person. To my mind after the renovation it will be normally kept.

Composed by S. Nalbandyan 2008p.02.07





Լոռու մարզի Բովածոր գյուղի դպրոցի վերանորոգման աշխատանքերի

04647466	14
----------	----

h/h	Աշխատանքի անվանումը	2/1	քանակը	միավ. գինը	ընդիանուր արժեքը
1	Տանիքի հին շիֆերի քանդում	Δ2	235	70	16450
2	Տանիքի փայտե կոնստրուկցիաների վերանորոգում	ŭ3	2.6	83500	217100
3	Ջրհորդանի պատրաստում ցինկապատ թիթեղից, ներառյալ ջրահեռացման խողովակները	գմ	102	1490	151980
4	Տանիքի կառուցում ազբոշիֆերով	ປ2	235	1710	401850
	Գագաբնագծի պատրաստում ցինկապատ թիթեղով	qŭ	18	850	15300
6	Յին սոսնձաներկի մաքրում	ŭ2	3280	35	114800
	Պատերի և առաստաղի վերանորոգում գաջով	ປ2	356	630	224280
8	Լինոլեումից հատակների կառուցում	ຟ2	130	3260	423800
	Շրիշակների տեղադրում	ú	270	320	86400
	Պատուհանների փոքր նորոգում	hum	12	1240	14880
	Դռների մեծ՝ նորոգում	hwin	7	2560	17920
	Պատերի և առաստաղի՝ սոսնծաներկում	Jú2	2361	560	1322160
13	Պատերի և շրիշակների յուղաներկում	ú2	1117	710	793070
	Պատուհանների յուղաներկում	ú2	156.6	710	111186
15	Դռների յուղաներկում	Jú2	75.6	710	53676
	Պատուհանների ապակեպատում	lδ2	67	2130	142710
18	Դռան ներքին փականների տեղադրում	hատ	8	4520	36160
19	Չուգարանակոնքի տեղադրում	hwin	8	20500	164000
	Լվացարա ն ի տեղադրում /տյուլպան/	huun	6	9500	57000
21	Շին.աղբի կուտակում, տեղափոխում ձեռքով	ú3	5.9	890	5251
	Շին.աղբի բարձում և տեղափոխում ա/մ	ហ	12.1	420	5082
	Ընդամենը				
U. U. 7 -20 %					875.011

Ա. Ա. Ә. -20 % Ընդիանուրը 4,375,055 875,011 5,250,066

N	Work Name	U/M	quantity	unit price	total cost	
1	Removing old roofing slates	m2	4uaniity 105	70	7350	
2	Repairing wooden constructions of the roof	m3	2.6	83500	217100	
	Building channels from zinc-plated tin, including	1110	2.0	00000	211100	
3	tubes for removing water	gram	102	1490	151980	
4	Building the roof with asbestos sheeting	m2	105	1710	179550	
5	Building peak line from zinc-plated tin	gram	18	850	15300	
6	Removing old glue-paint	m2	3280	35	114800	
7	Repairing walls and roof with gypsum	m2	356	630	224280	
8	Repairing linoleum floor	m2	130	3260	423800	
9	Settling planks	m	270	320	86400	
10	Small repairing of windows	pcs.	12	1240	14880	
11	Large repairing of doors	pcs.	7	2560	17920	
12	Glue-painting the walls and roof	m2	2362	560	1322720	
13	Oil-painting the walls and planks	m2	1117	710	793070	
14	Glue-painting the windows	m2	156.6	710	111186	
15	Glue-painting the doors	m2	75.6	710	53676	
16	Glassing the windows	m2	67	2130	142710	
18	Settling flaps for indoor doors	pcs.	8	4520	36160	
19	Settling toilet sinks	pcs.	8	20500	164000	
20	Settling wash-stands /tulip/	pcs.	6	9500	57000	
21	Accumulating construction garbage and moving manually	m3	5.9	890	5251	
22	Loading construction garbage and moving by machine	ton	12.1	420	5082	
	Overall					

Verall V.A.T. - 20 % Total 4,144,215 828,843 4,973,058